1. Law of Conservation of Mass—atoms going into the reaction
(reactants) must equal atoms coming out of thelimafproducts)

C 4 O emmp CQ

Reactants (left) Producigh)
Q: How many carbon on the left? Q:How maagbon on the right?
A: 1 atom of carbon A: 1 atom of carbo
Q: How many oxygen on the left? Q:How mamrygen on the right?
A: 2 atoms of oxygen . 28atoms of oxygen

“This chemical equation is balanced!”

2. To balance a chemical equation only add or changéicient$

“Thou shalt NOT changsubscriptsvhen balancing chemical equations!”

{\— Coefficients ~
2H,+ O, =» 2H0

t‘— Su+bscripts J



Practice Problems: Balance Equations (add ooefficients only)

1 C 4+ _ Quummp = CO

Type of reaction is

2.  NaCla Jopy- NaF el

Type of reaction is

3.  H, 4 e ___HF
Type of reaction is
4. QH1206 —r. C et 25
Type of reaction is
5. _ ANG e~ NaCommeep _ AgGRE _ NahO

Type of reaction is




Practice Problems: Answers

1 C 4+ _ Qummp = CO

"Already Balanced”
Type of reactionSynthesis Reaction

2. 2NaCl 4 | ==mmp 2NaF + __ Gl

Type of reactionSingle Displacements(replacement) Reaction

3. H2 p= _E e _2_”:

Type of reactionSynthesis Reaction

4, _QH]_ZOG — _ﬁ: .|._l]l-|20

Type of reactionDecomposition Reaction

5. _ ANG e~ NaCommeep _ AgGR _ NahO

"Already Balanced”
Type of Reactiobouble Displacement (Replacement) Reaction




